Test Bank Questions by TEKS for Chapter 2
6.1(A) and 6.3(D)
1. Ciara planted 9 rows of tomato plants. Five rows had 12 plants each, and four rows had 13 plants each. What number of tomato plants did Ciara put in the ground?
	A
	108

	B
	112

	C
	113

	D
	117

	
	


Answer: B
 
6.1(A) and 6.3(D)
2. Nathan wanted a bike for his birthday. His parents agreed to pay half the cost of the $348 bike but he would have to pay the rest. Nathan agreed and started to save up for his half of the bike. He decided that he could only afford to save $29 a month. How many months does Nathan have to save $29 in order for him to come up with half the cost of the bike?
	A
	 2 months

	B
	4 months

	C
	6 months

	D
	8 months


Answer: C

6.1(A) and 6.3(D)
3. This weekend Brandon is washing cars to earn money. He gets paid $11 for each car he washes. He washes 2 cars each hour. How much money will Brandon earn if he washes cars for 12 hours this weekend?

	A
	$22

	B
	$132

	C
	$264

	D
	$528


Answer: C


6.1(A) and 6.3(D)
4. At St. Peter & Paul’s recreation center there are a total of 15 circular tables in the dining room. Twelve of the tables sit 10 people each. Three of the tables seat 8 people. What is the maximum number of people who can sit at the tables in the dining room?

	A
	24

	B
	36

	C
	120

	D
	144


Answer: D
6.1(A) and 6.3(D)
5. The Brauntex Theater has 36 rows of seats. There are 28 seats in each row. About how many people can be seated in this theater?

	A
	30

	B
	120

	C
	1000

	D
	1200


Answer: C

6.1(A) and 6.3(D)
6. For a science project Cody is keeping track of the calories his father eats at breakfast. The table shows the number of calories Cody’s father ate for breakfast on Sunday.
	Food
	Number of servings
	Calories eaten

	Raisin Bran Cereal
	1
	82

	Milk
	2
	120

	Orange Juice
	1
	76

	Mixed Fruit
	1
	96

	Coffee
	2
	62


Which is the closest number of calories Cody’s father ate for breakfast on Sunday morning?

	A
	200 cal

	B
	300 cal

	C
	400 cal

	D
	500 cal


Answer: C
6.1(A) and 6.3(D)
7. Mr. Winsinski bought 12 computer books. If he paid $38 for each book, how much did Mr. Winsinski pay for the books?

	A
	$300

	B
	$360

	C
	$400

	D
	$456


Answer: D

6.1(A) and 6.3(D)
	Gate
	Number of People

	North
	1,275

	South
	3,149

	East
	2,846

	West
	1,754


8. The table shows the number of people who entered the Comal County Fair grounds through each gate on Saturday. Which choice is the best estimate of the number of people who attended the fair on Saturday?

	A
	7,000

	B
	8,000

	C
	9,000

	D
	10,000


Answer: C


6.4(D)

9. Max earned $650 working as a landscaper. If he worked a total of 80 hours, which expression can be used to find how much he earned each hour?

	A
	650 - 80

	B 
	650 ÷ 80

	C 
	650 + 80

	D 
	650 · 80


Answer: B

6.4(H)

10. On Tuesday night Lucas spent 18 minutes on Social Studies homework, 29 minutes on Language Arts homework, and 59 minutes on math homework. Since 1 hour equals 60 minutes, about how much time in all did Lucas spend on his homework?

	A
	1 hour 50 minutes

	B 
	1 hour 10 minutes

	C 
	1.5 hours

	D 
	1.10 hours


Answer: A
6.3(C)
11. A frog hops on a number line jumping 3 units each leap. If the frog begins at 0 and hops in a positive direction, at which coordinate will it be after 15 leaps?
	A
	55

	B 
	45

	C 
	35

	D 
	15


Answer: B


6.3(C)
12. A frog hops on a number line jumping 2 units each leap. If the frog begins at 0 and hops in a positive direction, at which coordinate will it be after 100 leaps?
	A
	100

	B 
	200

	C 
	250

	D 
	102


Answer: B


6.3(C)
13. A frog hops on a number line jumping 5 units each leap. If the frog begins at 0 and hops in a negative direction, at which coordinate will it be after 2 leaps?

	A
	-10

	B 
	10

	C 
	-20

	D 
	15


Answer: A

6.3(D)
14. Find the required products:

i) 73 · 14 





ii) 15 · 238

	A
	1022

	B 
	87

	C 
	-1022

	D 
	-87


	A
	253

	B 
	3470

	C 
	3570

	D 
	-253


Answer: i) A, ii) C


6.3(C)

15. Draw a rectangle and use the area model to show the multiplication 26 · 37 as
(20 + 6) (30 + 7). Indicate the area represented by each interior region.

Answer:
[image: image1.emf]
6.1(A) and 6.3(D)
16. Nama has $50 and wants to buy ice-cream sandwiches for her 12 classmates. Each ice-cream sandwich costs $3. How many ice-cream sandwiches can she buy? Will the money be enough to buy ice-cream sandwiches so that each of Nama’s classmates gets at least one sandwich?

Answer:

Nama can buy 16 ice-cream sandwiches. Yes, there will be enough for everyone to get at least one.


6.3(D)
17. Find the quotient and remainder using long division. Identify each.

3172 ÷ 15

Answer:

quotient = 211
remainder = 7


6.1(A) and 6.3(D)
18. Rachel must distribute $4056 in cash equally to 12 people on her team. She uses only $100, $10, and $1 bills and also uses the fewest bills possible.

a. How many $100 bills should she give each person?

b. How many $10 bills should she give each person?

Answer:

Each person will get $338.

a. 3 bills ($100)

b. 3 bills ($10)

1

